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N 2 0l & AF S E A A
010U 2OIAh UBHS|H FOIMBRAD ~ FOMBXRD
SM: F0IME XD
M ZOIMETAMNEA BLHH PE
ool HANE 25 (B9 &)
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o Rz
Z=0IM S X Dt 5,022,848 3,792,102 1,230,746
= 238, 155
s 174,339
& 60,757
Al 4,549,597
ZOMBXEMYIA MU 2S 719,553 735,442 ~15,889
= 215,750
= 35,000
= 33, 160
Al 435,643
s 25 113,587 151,260 ~37,673
= 35,000
= 7,000
Al 61,587
2N 715 14,520 18,360 3,840
201 LByl 1,500 1,500 0
01 AtR2elt] 1,500 1,500 0
OReD AT 22 1,500,000 * 18l 1,500
301 YLrBAZ 13,020 16,860 A3,840
01 Al B Z X253 13,020 16,860 3,840
O#X TS 2AIHl  7,0008 * 304 + 128 2,520
O#4 Xt HE0H 20,0002 * 102 * 128 2,400
O#AXIPS =6l 30,0002 * 102 * 128 3,600
O#X TS TI=Hl 50,0008 * 191 *128 600
OAZ T =Rt 500,0002 * 39! 1,500
OAZ Tt OHE B 500,0002 * 39l 1,500
OAZXt otxIZ 30,0002 * 37 + 102 900
Mol RIS YFNY X 2,000 2,400 400
301 LB A 2,000 2,400 400
01 AtEI B X453 2,000 2,400 A400
OYUZFINE =5t MTE N
200,0008 * 107+7 2,000
LEH = 3,000 3,000 0
307 2120l H 3,000 3,000 0
02 BINANBE 3,000 3,000 0
OR=H 28 3,000
CEX 25AE 29X 51,000 51,000 0
= 35,000
Al 16,000
301 LB A 1,000 1,000 0
01 AtEI B R X453 1,000 1,000 0




A FRIMEX A
M FQUMSTRAAMUIA MEHAH 25
Crol: FoHE 25 (ere): &g
SA - M. CHY (B HEAY . N2 A} OH HEE =}
SH M HA(FA) - HRAE - S = &= O] AFOH S5
OL-=9l dEl AER
500,000& = 23] » 1A 1,000
307 GI12t0l & 50,000 50,000 0
&2 35,000
Al 15,000
02 BIHtANEX 50,000 50,000 0
Ok=i BESAd 29 50,000
= 35,000
Al 15,000
NASE d=c K& 18,667 28,000 N9,333
< 5,600
Al 13,067
307 GI2t0I A 18,667 28,000 A9,333
= 5,600
Al 13,067
02 2ItAANSE X 18,667 28,000 29,333
OMASE &E=cl XA(7HCH) 18,667
= 5,600
Al 13,067
Mol =5 22 13,000 17,000 A4,000
202 O 2,000 2,000 0
01 =LA b 2,000 2,000 0
OMdi+= g2=& 2,000
307 212t01& 11,000 15,000 24,000
01 S22+l 11,000 15,000 24,000
Ooldiese+s s+ 5,000
OSZ Mol LoiItE 2=dAHl X2
300,000& = 200t 6,000
e NASS K3 11,400 19,500 28,100
= 11,400
301 Lt al 11,400 19,500 28,100
& 11,400
01 AISIEE A =0l= 11,400 19,500 8,100
Oxa? MASE XN& 11,400
< 11,400
QIS MY A XJEXH 25 28,510 29,510 21,000
FUMETAAMLIAAIM 2 23,000 24,000 21,000
201 Let2d 6,500 7,500 A 1,000
01 AFR 22| 6,500 7,500 21,000
OFUMHIMHIA EES HEH
1,000& = 35 = 1,0000H 3,000
OFQUMERAMEIA A E MR HMA
20,000& * 100& 2,000
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HH: FOMBRANHA HBLHH S
CHol: FOIMSNRAHIA XFMH 2E EERL]
_ _ NE
SN S(H) - MEAY - BES Off &k o8 0l At o Hlms2
OFVANHIA SEHBAAL 2% S/NAL
300,0008 * 5% 1,500
202 O4Hl 8,500 8,500 0
01 =Gl 8,500 8,500 0
OFoIMBXAMEA HREN 8,500
203 YREXH| 8,000 8,000 0
03 AZFIHRFAH| 8,000 8,000 0
ONASES MBOIFH 8.000
Fg=Xsl2 2F 2t 5,510 5,510 0
201 B3| 5,510 3,950 1,560
02 =234l 5,510 3,950 1,560
OFIIQ23 60,0002 * 128 720
O4ot==e=3 40,000& » 128 480
(@)=a-13:] 250,000& « 53 1,250
OA&E |z 1,500
ORUAHIANAY Sty
130,000& = 12& 1,560
AHASAH 243t 146,322 171,078 AN24,756
= 17,863
Al 128,459
ANHEASAHEH 29 K& 75,500 95,500 220,000
307 GI12+0I & 75,500 95,500 A 20,000
02 ItAAE X 75,500 95,500 220,000
Ot THASAHHEH 23 75,500
NHRASAX 4 11,096 15,442 A4,346
202 01l 2,000 2,000 0
01 =LA b 2,000 2,000 0
OREA 2435 42X 2,000
301 EtEA = 9,096 10,612 21,516
10 EAAHIBAS 9,096 10,612 A 1,516
ORI ZA THal HIIXE 0]
75,8003 * 400! » 2 6,064
ORI ZAR b3 2 NS0
75,800% * 2091 » 2 3,032
T = A 2OIUI0IE X8 30,472 30,472 0
= 15,236
Al 15,236
307 QI2t0I A 30,472 30,472 0
= 15,236
Al 15,236
02 ItAANSE X 30,472 30,472 0




S ORI
Ha: FOMBIAMNEIA LA 2=
Sl NHREZA 248 (e
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
SREENECINEEE 30,472
= 15,236
Al 15,236
NAZAT 2EE g 5,254 5,064 190
= 2,627
Al 2,627
307 2120l H 5,254 5,064 190
= 2,627
Al 2,627
02 DIIAMNBE 5,254 5,064 190
ORNAZAMT 2HE N 5,254
= 2,627
Al 2,627
ArZEel B DHFED| 12,000 12,000 0
307 2I2+0IH 12,000 12,000 0
VIR EES 12,000 12,000 0
OAZSl & DHFI| Arel 12,000
RNEASAHEAIY 2% X2 12,000 12,000 0
307 2120/ H 12,000 12,000 0
VEEIEPEES 2,000 12,000 0
ORABAME AY2Y X2 12,000
XES SHMHIA IS 408,450 360,910 47,540
= 197,887
= 16,160
Al 194,403
HASE MBOH XY 32,500 31,850 650
201 Yer2g| 7,500 6,850 650
01 AtR2elt] 7,500 6,850 650
OFOINHIA SN K
10,0008 * 400 4,000
OAST=XAMY ELAUS HE
10020 * 23| * 3,0000H 600
OhAlways 8l%Lts E2 1008 * 15,0005 1,500
O8|YLts 2HQ 2= 702l * 20,0008 1,400
202 01t 4,000 4,000 0
NIETE 4,000 4,000 0
OLEH SEHAHA P25 4,000
203 HRFAY| 6,000 6,000 0
03 AIZZ=RHREZY| 6,000 6,000 0
OULES SeAHA XA =2 6,000
301 YerEAZ 15,000 15,000 0
01 ASIBEE 2513 15,000 15,000 0




SN FEOIMEX D
M ZOIMETAMNEA BLHH 2E
Ol UEE SSNUIA JMTE (e @
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
SEET T ESE 15,000
MBI=XIE sl 2N 40,000 40,000 0
= 8,000
Al 32,000
307 QI2H0IH 40,000 40,000 0
= 8,000
Al 32,000
02 BINANBE 40,000 40,000 0
OMsl=NEE 2% 40,000
= 8,000
Al 32,000
NYAMEI =X BolH 2 54,410 53, 150 1,260
201 Yer2 Yyl 4,410 3,150 1,260
01 At 2r2ly| 4,410 3,150 1,260
OXISAEI =X BolH & A
70,0002 * 219! * 33l 4,410
307 QI2H0I 50,000 50,000 0
02 SIAAMBE 50,000 50,000 0
OXNHAMBI=T G 2 50,000
NEVCE R P 3,164 2,464 700
301 LB A 3,164 2,464 700
10 BAEI 243 3, 164 2,464 700
OIS SIoFHT B4
7,000%0 * 8021 * 23] 1,120
OXH=XSY 2As 4
7,0008 * 1621 * 123 1,344
OMBIASIHII SA & O
7,000 * 10021 * 18] 700
ASTET T 80,000 101,250 A21,250
= 64,000
= 3,200
Al 12,800
301 LBBAI 80,000 101,250 ~21,250
= 64,000
= 3,200
Al 12,800
01 ASIBEE 253 80,000 101,250 ~21,250
OAZ =X KR A (15021) 80,000
= 64,000
= 3,200
Al 12,800
K ABI A EIA SXEARS 123,998 125,296 A1,298
= 99, 198
= 4,960
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_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
A 19,840
307 212+0IH 123,998 125,296 A1,298
= 99, 198
= 4,960
Al 19,840
05 PIZteIES 123,998 125,296 A1,298
OKLBOIE HAUA EZ H O 50,000
= 40,000
= 2,000
Al 8,000
OOIS QXIS SFAAY 73,998
=2 59, 198
= 2,960
Al 11,840
KA = XIS X2 5,000 5,000 0
201 Ygreg| 5,000 5,000 0
03 A2 Y| 5,000 5,000 0
020108 XIASI = XICHE] X 5,000
oI OL Y S 69,378 0 69,378
= 34,689
Al 34,689
101 @124t 69,378 0 69,378
= 34,689
Al 34,689
04 JARZRIISES 69,378 0 69,378
OPIMOIN T M2 2124H/(32) 69,378
=2 34,689
Al 34,689
zAYeo M3 22,684 22,684 0
SNHAK 22 SBEA 20,684 20,684 0
201 Yer2o| 9,684 9,684 0
01 AtR2elt] 6,000 6,000 0
OSEZAAHIA 222 R
2,0002 * 1,008 * 2% 4,000
ONEXIR BAE sy
2,000 * 1,0007H 2,000
02 222 Y| 3,684 3,684 0
OSBZANNY 28R 600,002 * 1l 600
OSE TR NHSIHA| 84,0002 * 13 84
OSSZANIEY RSB 250,0008 * 122 3,000
202 01t 6,000 6,000 0
01 =LH01 ] 6,000 6,000 0
ocTZ e ad 4,000
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S FOIMERR D
Hai: 2p2Ede L N
S 2NRTX HASA (69 &)
_ _ HE T
SA-BH.C(BH) - HRAY - B O AF o8 il i~ o Rz
307 2I2+0IH 6,200 7,600 A1,400
02 QIHHARE 6,200 7,600 A1,400
OBEY A RIS L &N B4 N
7,00020 * 60021 4,200
OHEY A RS 2,000
SYRTX RE 2H N 1,000 1,000 0
= 200
Al 800
307 2120l H 1,000 1,000 0
= 200
Al 800
02 QIAHABE 1,000 1,000 0
OSYREBT RE 224 NV 1,000
= 200
Al 800
FHRIN A& 109,500 109,500 0
301 YBrEAZ 109,500 109,500 0
01 Al B X453 109,500 109,500 0
OBERBT Yo+
30,0002 * 3002 * 122 108,000
OBFSBI MY 922 150,008 * 109! 1,500
HASE D8UEY 715 440,565 432,247 8,318
=2 22,405
= 139,339
= 27,397
Al 251,424
AR 440,565 432,247 8,318
= 22,405
= 139,339
= 27,397
7 Al 251,424
PP Rt 44,810 23,211 21,599
= 22,405
= 6,721
Al 15,684
301 YBrEAZ 44,810 23,211 21,599
= 22,405
= 6,721
Al 15,684
12 JIEt2 A2 44,810 23,211 21,599
ONE=X &3 (259!) 44,810
=2 22,405
= 6,721
Al 15,684
2222 A 353,755 367,036 A 13,281




SN FE0IMEX D
Hu: HASE DAY 7=
g X

CHR|: Al Q[ 2H 2 5} (&te @
- < - PSS I =
2N -3 - c2(3H) - NEME - HES Ol AFoH @E% Hl =2
=2 139,339
[ 20,676
Al 193,740
101 Q14| 353,755 367,036 13,281
= 139,339
[= 20,676
Al 193,740
04 JIZtHZ2Z2NEES 353,755 367,036 A 13,281
OZ2222 A (15090!) 353,755
=2 139,339
[= 20,676
Al 193,740
2RI CIEARH 29 42,000 42,000 0
101 Q14| 42,000 42,000 0
04 JIZH2Z2REES 42,000 42,000 0
OZ 2|2 QIEALR H2CH(1201) 42,000
DIHKI &N msI|e 2= 3,569,025 2,321,039 1,247,986
SEQITSA 3,569,025 2,321,039 1,247,986
AN 3,309,025 2,061,039 1,247,986
201 LEt2AH| 4,200 2,800 1,400
01 AFR22lH] 4,200 2,800 1,400
OnNSAH| AoA|Z| EHAH
70,0002 * 1501 = 43| 4,200
202 OdH] 3,000 3,000 0
01 2oy 3,000 3,000 0
SHE SEHEE 2 ARLEHC 3,000
301 Yt A2 179,250 0 179,250
02 Zat22sH 2 179,250 0 179,250
OAMAHAOIA DAY (ZSEM)
120,000 = 3200! 38,400
OMTHRHAOI & WS X AH|(ZEHAH)
262,000 * 1840! 48,208
OAMXHOIA DEXRAH(DSEHA)
605,500 * 1530! 92,642
307 QIZto|A 27,600 27,600 0
05 BI2+QIEt2 27,600 27,600 0
OXZE MOIHAZ =29H| 2,300,0002 * 12& 27,600
308 XXISHHESOIA 3,094,975 2,027,639 1,067,336
05 XXICHHZ2IREZ2 249,975 255,347 N5,372
OLK/EZ XA =& HetrIety 1|2 22 5,000
OO0 YDA XY 2et2 220,975
OZ2l 2A2 HstM 2e3(201) 24,000
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